Multiplication d’'un Binome par un Trinome (1)

Simplifiez chaque expression.

L (3¢ +1)(—4¢> — 4¢° + q)

2 (4y* = 3y)(—4y' — 6y° — 2¢%)

D

5 (=5f% — 6f2)(=8f° —4f* = 5f?)

L (40?4 0)(90° + 60t 4 Tv?)

C(5¢* + 4¢%) (—4¢* + 3¢ + 3)

Ot

6. (—8b% + 5b)(—9b® + 5b* + 5b)

7. (3¢ = 3)(=3c® — Tc* + 7c%)

8 (—a* + 22%) (=322 + 82 — 2)

0. (m?® 4 5m*)(=8m® — m* +m?)

10. (=9a* — a®)(—8a® 4 a — 8)
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Multiplication d’'un Binome par un Trinoéme (I) Réponses

Simplifiez chaque expression.

B+ 1)(—4¢’ — 4¢* + q)
— —12¢* — 16¢> — ¢* + ¢

\}

- (4y® = 3y)(—4y" — 6y° — 2%
= —16y° — 12¢° + 10y* + 6¢°

(=57 =67 (=8f° —4ft = 5f7)
= 40f° +68f7 +49f° +30f°

o

(40?4 0) (9 + 6vt + Tod)
= 3607 + 330° + 340° + 7o

- (5¢* +4¢°)(—4¢* + 3¢ + 3)
= —20¢° — ¢° + 274" + 12¢°

ot

5. (—8b* + 5b)(—9b® 4 5b* + 5b)
— 720° — 85b* — 15b° + 25b°

o))

-3

- (3c— 3\)(—305 — 7+ 76) ‘
= —9¢% — 12¢° + 42¢* — 2168

(=2t 207 (—32% + 8w —2)
= 329 — 142° + 182* — 423

00

9. (m? + 5m?)(—=8m® — m_4 +m?)
= —8m® — 41m” — 4m® + 5m°

10. (=9a* — a®)(—8a® 4 a — 8)
= 72a% — a® + 71a* + 8a®
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